
Warm	
  Up	
  1.4H	
  
	
  
Graph	
  the	
  following	
  system	
  of	
  equations	
  by	
  graphing.	
  GRAPH	
  USING	
  THE	
  
INTERCEPTS.	
  
	
  
y	
  +	
  2x	
  =	
  	
  6	
  
	
  
y-­‐intercept:	
  
	
  
	
  
	
  
x-­‐intercept:	
  

4x	
  +	
  2y	
  =	
  12	
  
	
  
y-­‐intercept:	
  
	
  
	
  
	
  
x-­‐intercept:	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  

	
  
	
  

Warm	
  Up	
  1.4H	
  
	
  
Graph	
  the	
  following	
  system	
  of	
  equations	
  by	
  graphing.	
  GRAPH	
  USING	
  THE	
  
INTERCEPTS.	
  
	
  
y	
  +	
  2x	
  =	
  	
  6	
  
	
  
y-­‐intercept:	
  
	
  
	
  
	
  
x-­‐intercept:	
  

4x	
  +	
  2y	
  =	
  12	
  
	
  
y-­‐intercept:	
  
	
  
	
  
	
  
x-­‐intercept:	
  
	
  

	
  
	
  

-5

-5

5

5

-5

-5

5

5


